



JOURNAL OF COMPUTATIONAL AND APPLIED MATHEMATICS

Journal of Computational and Applied Mathematics 83 (1997) 115-118

Letter

Convergence of a preconditioned iterative method for H-matrices

Hisashi Kotakemori^{a,*}, Hiroshi Niki^a, Naotaka Okamoto^b

^aDepartment of Applied Mathematics, Okayama University of Science, Okayama 700, Japan ^bDepartment of Applied Chemistry, Okayama University of Science, Okayama 700, Japan

Received 17 April 1996; revised 11 September 1996

Abstract

In this paper, we consider a preconditioned iterative method for solving the linear system Ax = b, which is a generalization of a method proposed in Kotakemori et al. [3] and prove its convergence for the case when A is an H-matrix.

Keywords: Gauss-Seidel method; Preconditioning; H-matrix

1. Introduction

For solving the linear system Ax = b or its preconditioned form

$$PAx = Pb, (1)$$

we consider the iterative process

$$x_{k+1} = M_p^{-1} N_p x_k + M_p^{-1} P b, \quad k = 0, 1, \dots,$$
 (2)

which corresponds to a splitting $PA = M_p - N_p$, where A is an $n \times n$ matrix with unit diagonal elements, P is an $n \times n$ preconditioning matrix and x and b are n-dimensional vectors. Let A = I - L - U and $B = \operatorname{diag}(\beta_1, \beta_2, \dots, \beta_{n-1}, 0)$ with $\beta_i \ge 0, 1 \le i \le n-1$, where I is the identity matrix, -L and -U are strictly lower and strictly upper triangular matrices of A, respectively. We propose here a preconditioned iterative method with P = I + BU, $M_p = I - B\bar{D} - L - B\bar{E}$ and $N_p = U - BU + BU^2 + B\bar{F}$, where \bar{D} , \bar{E} and \bar{F} are the diagonal, strictly lower and strictly

^{*}Corresponding author.

upper triangular parts of $UL = \overline{D} + \overline{E} + \overline{F}$, respectively. If $\beta_1 = \cdots = \beta_{n-1} = \beta$, then the method reduces to the one discussed in a previous paper [3]. The purpose of this paper is to prove a convergence theorem for the method for the case where A is an H-matrix.

We first recall the following: A real vector $x = (x_1, ..., x_n)^T$ is called nonnegative (positive) and denoted by $x \ge 0$ (x > 0), if $x_i \ge 0$ $(x_i > 0)$ for all i. Similarly, a matrix $A = (a_{ij})$ is called nonnegative and denoted by $A \ge 0$, if $a_{ij} \ge 0$ for all i, j.

Definition 1.1. An $n \times n$ matrix A is an M-matrix, if $a_{ii} > 0$ for all $i, a_{ij} \leq 0$ for $i \neq j$ and $A^{-1} \geq 0$.

Definition 1.2. An $n \times n$ matrix A is an H-matrix, if its comparison matrix $\langle A \rangle = (\alpha_{ij})$ is an M-matrix, where α_{ij} is

$$\alpha_{ii} = |a_{ii}|, \qquad \alpha_{ij} = -|a_{ij}|, i \neq j.$$

Definition 1.3 (Frommer [2]). The splitting A = M - N is called H-splitting if $\langle M \rangle - |N|$ is an M-matrix.

Then the following results are known:

Theorem 1.4 (Fan [1]). Let A have nonpositive off-diagonal entries. Then a real matrix A is M-matrix if and only if there exists some vector $\mathbf{u} = (u_1, \dots, u_n)^T > 0$ such that $A\mathbf{u} > 0$.

Theorem 1.5 (Frommer [2]). Let A = M - N be a splitting. If it is an H-splitting, then A and M are H-matrices and $\rho(M^{-1}N) \leq \rho(\langle M \rangle^{-1}|N|) < 1$.

2. A convergence theorem

Lemma 2.1. Let A be a real matrix with unit diagonal elements. If there exists an integer l > i such that $|a_{il}| > 0$ for each i < n, then $\sum_{j=1}^{n} \sum_{k=i+1}^{n} |a_{ik}a_{kj}| \neq 0$.

Proof. If there exists an integer l > i such that $|a_{il}| > 0$ for each i < n, then we have for some l > i and each i < n

$$\sum_{j=1}^{n} \sum_{k=i+1}^{n} |a_{ik} a_{kj}| = |a_{il}| + |a_{il}| \sum_{j=1, j \neq l}^{n} |a_{lj}| + \sum_{\substack{k=i+1 \ k \neq l}}^{n} |a_{ik}| \sum_{j=1}^{n} |a_{kj}| \neq 0.$$

Theorem 2.2. Let A be an H-matrix with unit diagonal elements, $A_B = (I + BU)A = M_B - N_B$, $M_B = I - B\bar{D} - L - B\bar{E}$ and $N_B = U - BU + BU^2 + B\bar{F}$. Let $u = (u_1, \dots, u_n)^T$ be a positive vector such that $\langle A \rangle u > 0$. Assume that there exists an integer l > i such that $|a_{il}| > 0$ for each i < n and put

$$\beta_i' = \frac{u_i - \sum_{j=1}^{i-1} |a_{ij}| u_j + \sum_{j=i+1}^{n} |a_{ij}| u_j}{\sum_{j=1}^{n} \sum_{k=i+1}^{n} |a_{ik} a_{kj}| u_j}.$$

Then $\beta'_i > 1$, for i < n and for $0 \le \beta_i < \beta'_i$ (i < n), the splitting $A_B = M_B - N_B$ is an H-splitting and $\rho(M_B^{-1}N_B) < 1$ so that the iteration (2) converges to the solution of (1).

Proof. By assumption, the vector u > 0 satisfies

$$u_i - \sum_{j=1, j \neq i}^n |a_{ij}| u_j > 0 \quad \text{for all } i.$$

Therefore, we have

$$u_{i} - \sum_{j=1}^{i-1} |a_{ij}| u_{j} + \sum_{j=i+1}^{n} |a_{ij}| u_{j} - \sum_{j=1}^{n} \sum_{k=i+1}^{n} |a_{ik}a_{kj}| u_{j}$$

$$= u_{i} - \sum_{j=1, i \neq i}^{n} |a_{ij}| u_{j} + \sum_{k=i+1}^{n} |a_{ik}| \left\{ u_{k} - \sum_{j=1, i \neq k}^{n} |a_{kj}| u_{j} \right\} > 0 \quad \text{for } i < n.$$

From Lemma 2.1, we obtain

$$u_i - \sum_{j=1}^{i-1} |a_{ij}| u_j + \sum_{j=i+1}^{n} |a_{ij}| u_j > \sum_{j=1}^{n} \sum_{k=i+1}^{n} |a_{ik}a_{kj}| u_j > 0$$
 for $i < n$.

This implies

$$\frac{u_i - \sum_{j=1}^{i-1} |a_{ij}| u_j + \sum_{j=i+1}^{n} |a_{ij}| u_j}{\sum_{i=1}^{n} \sum_{k=i+1}^{n} |a_{ik} a_{kj}| u_j} > 1 \quad \text{for } i < n.$$

Hence, $\beta'_i > 1$ for i < n.

Let $\{(\langle M_B \rangle - |N_B|)u\}_i$ be the *i*th element in the vector $(\langle M_B \rangle - |N_B|)u$ for i < n. Then we obtain for i < n

$$\begin{aligned} &\{(\langle M_B \rangle - |N_B|u\}_i) \\ &= |1 - \beta_i \sum_{k=i+1}^n a_{ik} a_{ki} | u_i - \sum_{j=1}^{i-1} |a_{ij} - \beta_i \sum_{k=i+1}^n a_{ik} a_{kj} | u_j \\ &- \sum_{j=i+1}^n |a_{ij} - \beta_i \sum_{k=i+1}^n a_{ik} a_{kj} | u_j \\ &\geqslant u_i - \beta_i \sum_{k=i+1}^n |a_{ik} a_{ki} | u_i - \sum_{j=1}^{i-1} |a_{ij} | u_j - \beta_i \sum_{j=1}^{i-1} \sum_{k=i+1}^n |a_{ik} a_{kj} | u_j \\ &- \sum_{j=i+1}^n |(1 - \beta_i) a_{ij} | u_j - \beta_i \sum_{j=i+1}^n \sum_{k=i+1, k \neq j}^n |a_{ik} a_{kj} | u_j, \end{aligned}$$

and

$$\{(\langle M_B \rangle - |N_B|)u\}_n = u_n - \sum_{i=1}^n \sum_{j\neq i}^n |a_{nj}|u_j > 0.$$

If $0 \le \beta_i \le 1$ for i < n, then we have

$$\begin{aligned} &\{(\langle M_B \rangle - |N_B|)u\}_i \\ &\geqslant u_i - \sum_{j=1, j \neq i}^n |a_{ij}|u_j + \beta_i \sum_{j=i+1}^n |a_{ij}|u_j - \beta_i \sum_{j=1}^n \sum_{k=i+1, k \neq j}^n |a_{ik}a_{kj}|u_j \\ &= u_i - \sum_{j=1, j \neq i}^n |a_{ij}|u_j + \beta_i \sum_{k=i+1}^n |a_{ik}| \left\{ u_k - \sum_{j=1, j \neq k}^n |a_{kj}|u_j \right\} > 0. \end{aligned}$$

Furthermore, if $1 < \beta_i < \beta_i'$ for i < n, then we obtain

$$\{(\langle M_B \rangle - |N_B|u\}_i \geqslant u_i - \sum_{j=1}^{i-1} |a_{ij}|u_j + \sum_{j=i+1}^n |a_{ij}|u_j - \beta_i \sum_{j=1}^n \sum_{k=i+1}^n |a_{ik}a_{kj}|u_j > 0.$$

Therefore, by Theorem 1.4, $\langle M_B \rangle - |N_B|$ is an M-matrix for $0 \le \beta_i < \beta_i'$ (i < n). That is, $A_B = M_B - N_B$ is an H-splitting for $0 \le \beta_i < \beta_i'$ (i < n). Hence, an application of Theorem 1.5 yields $\rho(M_B^{-1}N_B) < 1$ for $0 \le \beta_i < \beta_i'$ (i < n).

References

- [1] K.Y. Fan, Topological proofs for certain theorems on matrices with non-negative elements, *Monatsh. Math.* 62 (1958) 219-237.
- [2] A. Frommer and D.B. Szyld, H-splittings and two-stage iterative methods, Numer. Math. 63 (1992) 345-356.
- [3] H. Kotakemori, H. Niki and N. Okamoto, Accelerated iterative method for Z-matrices, J. Comput. Appl. Math. 75 (1996) 87-97.
- [4] M. Usui, H. Niki and T. Kohno, Adaptive Gauss-Seidel method for linear systems, *Int. J. Comput. Math.* 51 (1994) 119-125.
- [5] R.S. Varga, Matrix Iterative Analysis (Prentice-Hall, Englewood Cliffs, NJ, 1962).